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Question1

Which of the following is notinvolved with the control of floweringin plants?
A Thelength of time forwhichitis darkin every 24 hour period.
B.Theamount of redlight absorbed by a plant’s cells
C.Theexpression of certain genes,

D. The concentration of both forms of phytochromein a plant’s cells.

[1mark]
Question 2
The graph below shows plant flowering at different day lengths in short day plants.
Whatis happening at the stage marked X7?
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A.There are high levels of Prg and therefore flowering is activated.
B. Nightlengthis shorterthan the critical length.
C.There arelow levels of Peg and therefore flowering is not inhibited.
D. There are high levels of Prr and therefore flowering is inhibited.
[Tmark]
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Question 3

Which of the following willinduce flowering in long day plants grown during the winter?
A. Providing brighter light during the day.
B. Providing equal day and night lengths.
C. Providing a longer dark period.
D. Providing periods of light during the night.
[1mark]

Question 4

The graph below shows a possible future consequence of climate change on plant flowering dates and the dates on which
pollinators are active,

Whatwould the consequence of the data shownin the graph be for plants and pollinators, and why?

Mumber of plants flowering
and pallinators active

g

----------- Plants flawering
Paollinators active
Consequence Reason
sl s s s o e C i SEsrE The same number of plants would be pollinated and
A I P Pop pollinators would still get enough food
. : ; Fewer plants would be pollinated and less food
Decline in both plant and pollinator populations
B P a ROR would be available for pollinators
Decline in plant population but not in pollinator Fewer plants would be pollinated but pollinators
c population would still get enough food

Declinein pollinator population but notin plant The same number of plants would be pollinated but
D population less food would be available for pollinators

[Tmark]
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Question 5

Which of the following statements about pollen transfer are correct?

l. Self pollination occurs when pollen is transferred between separate flowers on the same plant.
Il. Pollen transfer can be carried cut by smallmammals.
lIl. Pollen can be transferred when birds consume fleshy fruits and then carry out egestion in another location.

A lonly
B.landll only
C.landlll only

D.LIL andlll
[1mark]

Question 6
Which statement correctly describes the part labelled Xin theimage below?

A, Diploid pollen tube
B. Haploid male nucleus
C. Diploid zygote

D. Haploid ovum
[Tmark]
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Question7/

The graph below shows the percentage of successful germination of seedlings inrelation to the dispersal distance from the
parent tree.

% successiul germination

Distance from tree
Which of the following explains the pattern shown in the data?
A. Seeds that were dispersed closest to the tree were eaten by squirrels
B. Seeds dispersed too far away from the parent tree were too exposed to germinate successfully
C.Fewerseeds weredispersedin the area closestto the tree
D.Seeds dispersedtoo close to the parent tree may not germinate due to competition

[1Tmark]
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Question 8

What is the name and function of the component labelled X on the seed diagram below?

X

Name Function
R Cotyledon(s) Containtheendospermand proii::: food source for the germinating
B Plumule Develops into the first shoot of the seedling
c Radical Develops into the first root of the seedling
D Endosperm Develops into the first leaves of the seedling

[1mark]
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Question 9

Theimage shows an animal pollinated flower

Identify the correct labels required forthe image above,
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1 Il i v v
A Stigma Receptacle Nectary Filament Anther
B Style Receptacle Sepal Anther Filament
c Owary Stamen Sepal Anther Filament
D Stigma Sepal MNectary Filament Anther
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The table below shows the effect of temperature on the germination of seeds. The seeds were first soaked in arange of
temperatures before being germinated at either

20°Cor35°C.
Temperature at which seeds were
soakedin°C Percentage of seeds which Percentage of seeds which
germinated germinated
At20°C At35°C
20 100 21
25 100 45
30 43 3
35 24 0

Which of the following statements explains the results?

|. Higher temperatures slows down or stops germination

Il. Enzymes are denatured when seeds are grown at highertemperatures
lll. Seeds that were soaked at 20 °C germinated more successfully than seeds soaked at 25 °C
IV, Soaking seeds at 35 "C had aless negative impact on germination compared to germinating at 35 °C

A lland IV
B.I.llandIV
C.LILIMandIV

D.landll
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